PATIO ENCLOSURE HURRICANE SCREEN

TEXAS DEPARTMENT OF INSURANCE (TDI)
BY

i

Crimsafe North America LLC ARSI,
PO Box 2440 Eaton Park :

Mﬁ;,;uwwmcm%% am\
FL 338402440 .
Phone: +1 8635100188 wz.ﬂ ERT L. CLARK 4
Fax: +1 863 865 0485 Tt

- ZO«“."’Q’&’Q‘O@BOQ% QDDrﬂ\\\v
;
o 072 F
G2
“SSonny e
TR -

A

v




PATIO ENCLOSURE HURRICANE SCREEN

1877 QPENING WIDTH

SYSTEM NOTES :
1. FRAME & PANEL CONSTRUCTION: EXTRUDED

ALUMINIUM FRAVE CORNERS ARE MITERED,
617 PANFL WIOTH 817 PANFL WIDTH 817 PANEL WIDTH AND SCREWED.
M$z>wmm%>m%rhv _ 2. FRAME DOES NOT CONTAN ANY HARDWARE.
| ! 4 . _/ 217 HEAD, SILL 3. MESH CONSTRUCTION: STAINLESS STEEL
Vs A A G50 NN GRACE MESH IS MADE UP OF 304 "HIGH TENSILE"
¥ . TJM %ﬁ o il Pl e STANLESS STEEL, WITH 9 0,035 STRANDS ARRANGED 10
; : NRER STRANDS BY 10 STRANDS PER SQUARE INCH
| ! |l ; i ; &2 THE NESH INFORMATION 1S DESCRIBED N SHEET 4.
A || e R || B R | e BEEE RT3 9 | |4 v e i AT ovio THE M e
NI - - : m u W e BY A REMOVABLE ALUMINIUM CLAYP WITH TAWPER
M : : ; 3 RESISTANT SECURITY HEAD SCREW. .
t ; i m il ; ? 7 VP, SPACIG 23
\ BE= =S5 E=S =SB =
| 18R EEE EmN | n
) [ 5l = =
M0 U 3
- ~
& N LB e e 9
Ml 8 N
; 8.
| g | N m N 58 .
e =2
N HEEA i M : _ m e
& e
" i ”‘ i : N o 4
Bl 2 e e N
- i EEE ;
m | e | :
i I e qu iy s ¥ gyl sgll \
% \\_“ “§\\\_\ w5 \a“ LAz Z g N 48 7/8" PANEL WIDTH
/a7 TYPICAL ELEVATION ™™
\01/ scae EXTER ELEY TYPICAL ELEVATION WITH MIDRAIL
SCALE EXTER E1EY

ARCHITECTURAL TESTING INC TEST

REPORT NUMBER: 98899.01-401-18

MAXIMUM ALLOWABLE
DESIGN PRESSURES:
+30.0 PSF
-50.0 PSF

MIN_SEPARATION FROM GLAZING:
31/

Manufacturer:

Crimsafe North America
PO Box 2440 Eaton Park
FL 33840-2440

Phone: +1 863 510 0188
Fax: +1 863 665 0485

GENERAL NOTES : recuek

PATIO ENCLOSURE
1. THE WNDOW SCREEN SYSTEM DESCRIED HEREIN HURRICANE SCREEN
HAS BEEN VERFIED FOR COMPLANCE N S5 OF Tarty,
ACCORDANCE WITH THE 2006 EDTIONS OF THE LR %fﬁ%ﬁ.
INTERNATIONAL BULDING CODE (18.C) AND THE %wwv J%& F %
INTERNATIONAL RESIDENTIAL CODE (LR.C.) WITH THE m‘w, rosnpenson L
2006 TEXAS REVISON EFFECTVE JANUARY 1, 2008, mgmmummmﬁ L CLARK
TESTING PROTOCOLS WERE IN ACCORDANCE WITH ¢ V74072 4|
TS 201, TS 202, THS 203, (XN < Sad
2. POSTNVE AND NEGATVE DESIGN PRESSURES SHAL BE GISTES =
CALCULATED N ACCORDAYCE WITH THE GOVERNING CODE. LAY
3. NSTALLATION OF ALL UNTS SHALL ALLOW FOR =2 \\\w\\@
RESPECTNE MNNUM SEPARATION FROM GLAZING AS NOTED e
ON THIS PAGE. REF SECTION DETALS FOR DESCRITION OF St
THS DISTANCE. -
4 THE SYSTEM DETALED HEREI 1S GENERIC AND DOES. 40T
PROVIDE INFORMATION FOR A SPECIIC STE. FOR STE
CONOIONS DEFFERENT FROM THE CONDITIONS DETALED
HEREI, A PROFESSONAL BYGNEER OR REGITERED ARCHTECT | Soor * Mo 2972

SHALL PREPARE SITE SPECIFIC DOCUMENTS.

5. PERWIT HOLDER SHALL VERIFY THE ADEQUACY OF THE
EXISTING STRUCTURE T WITHSTAND SUPERIMPOSED LOADS.
6. PERIMETER SQUARE TUBE MAY BE ANCHORED TO
VERTICAL FACE(FACE MOUNT") OF HOST STRUCTURE.

7. SYSTEM MAY BE INSTALLED VERTICALLY OR HORIZONTALLY
(AS SHOWN IN THIS PAGE).

ALL DIMENSION IN INCHES

Design by: CRIMSAFE

PRODUCT CONTROL DIVISION

Drawing Number

MD—-101-~POE

Sheet
1 of 4




Manufocturer:

Crimsale North America

PO Box 2440 Eaton Park
FL 33840-2440

Phone: +1 B63 510 0188
Fax: +1 863 565 0485

p £

Product:
v»ﬁ@%%f@.m,.cm E

A e gy

- - o \\Iwaxm.. Southern Yeliow Pine Wood Buck
\ @
— D)
e i ) I o r
-
o0, 00
:HE
' o [SEPARRDON ,wm M
I DAOE 3 1727 mMW
@ Tl s .
§ 8
@ @ {0 m
B £ m
EI "
s |
0 AR
31
" 34 w
ik
AN
No %o
(g ({0
T i S L
\!J/@ “v 5 /1@
~ g
ON CENTER f

ATTACHMENT TO WO0QD

ANCHOR TABLE:

TYPE STRUCTURE MIN EMBD.
< frer CONCRETE OR HOLLOY BLOCK WHIK W 138
3/18 6L DSTNNCE 7', WTH SCREY SPADNG 10 7
10 SELF DRLUING| wuputst o7 STEEL FRAMNG WM 1o e
METAL SHEET 00 DISTANCE 172", WITH SCREW SPACG 10 ¢°
SCREWS
WO0D /TSIBER WITH NN 13/8"
fio E0E OISTANCE 172", ¥ SCREY SPACING T0 67

ATTACHMENT TO ALUMINIUM
OR STEEL

/BT VERTICAL CROSS SECTION
\0Z/ SIDE FIX HURRICANE WINDOW

o

st

S,

LTy

15002 q:&uﬁaﬁ@ um\&@%% height

1
T i
L v
p

6| &

ATTACHMENT TO HOLLOW

BLOCK OR CONCRETE

ALL DIMENSION

IN INCHES

Ges, g
/ Ed

Dote: 2 Mar 2012
Scale: NA
Design by: CRIMSAFE

PRODUCT CONTRCL DMVISION

Drawing Number

MD—-101~POE

Sheet
2 of 4




Monufacturer:

@ 8" 27 x1/4" MULLION ALUMINUM (6061) 28" Southern Yellow Pine Wood Buck //\

Crimsate North America

PO Box 2440 Eaton Park

N
< FL 33840-2440
/\ Phone: +1 863 510 0188
Fax: +1 863 665 0485
/ll.l\\\

o O
Q.9
O O

Product:
@u/ PATIO ENCLOSURE

[ (&=

; %
9

|

: Q‘Q\mm%@@ ‘

10
41 3/8" MAX D.LO. 41 5/8" MAX D.LO. r..i»puu\vm. MAX D.LO. # % memhm.mssswzwugm*m@
BO” OPENNG MAX. FREL VDDA 60" CPOWIG UAY. PANE, WDTH 50" OPENNG $AX. PANEL WA0TH w Moe mv .NA‘C'NN
2 Vi _ 617 MAX, PANEL WIH 1116 617 MAX. PANEL WOM '/t 617 WAX, PANEL WO @@\m xrn/ .AV\Q xhw,l
187" STRUCTURE OPEMNG WOTH _ h ‘\ @u« \q
BN/ oo
/G2, HORIZONTAL CROSS SECTION DSl
15704121 cnaag\h.g& &a§~
N2/ SIDE FIX HURRICANE WINDOW T
g ‘\v i
A ” .
w @ Ll e
@v) @ @WI}VA _ e M\\W\\ [
g s ®© o
S 3 N
! N O] e ey
: . ; ANCHOR TABLE:
=4 g £ & TYPE STRUCTURE MIN EMED. Soner B Mer 2012
® o3 A\ vy LT ,. t A
3 5 g o t— - \ @ SIS ok oo o s oo s | 1 pesion byt CRIMSATE
m W sl N @// i 3 7 S TR PRODUCT CONTROL DIVISION
m e 10 %%ﬁus&agﬁgﬁq 13/8
= E _ 5 3.@) # g 3@
: mOOTNE ,
T f*
[l 7 TYP, ‘ 7 T -
] Drawing Number
g OO MD—101—POE
@ CORNER CONSTRUCTION DETALL
K_DW>F MMO\:OZ Umqq/:lm FLEVATION m:mmw

ALL DIMENSION [N INCHES 3 of 4




LI B G, BILL OF MATERAL Manutacturer:
g W - e DESCRIPTION MATERIAL arr
. ¥ . . @) | Ptio Frame-08A 6063-T5 24
< S
o S [ /s @ | Patio Cover-08 §053-15 2
= ww H = E ©3 | Hurdcane Clamp 6063-T5 24
E - - © | Palio Comer-OBACHR 5065315 % Crimsafe North America
T B ERTID eI B PO Box 2440 Ealon Park
Patio Frome-08A #8 X 11/32-18C 11 #12 X 1" Pan Head Self Tapping Screw @ | 2%1'x1/8 ALUNINUM HULLION S FL 33840-2440
o1 SECTON 06 SECTION SECTION @ | f8xn/3-18 STANLESS STEEL | 248 Phone: +1 863 510 0188
@ 12 X 1 3/8" Timber Screws 18K STAINLESS STEEL 81 Fax: +1 863 665 0485
e @ | paxye 240
€ | Santoprene lnsulotor Santoprene 2%
mlul_\ﬁ e L e i @ Tesa Tape - u Product:
\w| xﬁ ~ @ | 12 X 1" Aat Head Self Tapping Screw STAINLESS STEEL 36 BATI "
3 5 ¢ ! @D | 67%2"x1/4" ALUMINUM MULLION 6061 3 0 mzoMMM Mmz
“_ A _ 5 w (D | 250"1/4" ALUMINUM ANGLE (L BRACKET) 8061 12 = Vx MA ! Fiopre
) X o @ | Masonry Screw 1/4" x 2 1/2 STAMESS STEEL | 36 | 1 Eadieering: > N
@23 Cover~088 — o7 12 x 1 3/8" - 18K — @2 x1/47 ALUNINUM ?Eozmmgoz ® | Wosomy Screw 3/16° 1 2 /T NS ST > g = 2 r
- _ @ | Crimsafe Door Midral 5067 A%u» \ lm uw\
AICHOR NOTES: % ROBERT L O;mx m
4
1. ALHABLE ANCHIRS SHLL B5 45 LISTED It APPRCPRATE
t ACHOR SIEDRE D SPACED SHRN O SIET 1 FLEVTONS. mww 74072 %hr?%
* 34 2. NNCHORS SHALL BE NSTALLED I ACCORDANCE WD %&.\M S O A
berriam ety - MOFICTIES RECOOATONS. MM EUEETNENS DEFTHS F O~ Q\ 05
= : ) %&L AN EDGE DISTANCES SHALL APRLY A5 HOTED IN APPROPRTE 4 \0/ m‘ﬂm% //Vm\
» ‘ 34 _ 1116 JSHOR SCHEDAE. é.,»r 0\3754@%\'
! 3, SYSTEM MAY B ISTALED 0 CONCRETE, HOUOW ELOCK, Y000, /}\w_,;\
STEEL OR AN APPRONED BPACT RESISTANT ALUMGMUM FRANE OF ALLOY 3
T!L S081-T5 (4}, FRAUE S BE ISTRLED PR RESPECINE \x.w\ r“ wa\\\vx\t
3 Hurricane Clamp #12 % 344" APPROVIL DOCUMENTATION. b
03) SECTION 08 o @ 2R21/4 ALUMINGN ANGLE (L BRACKET) 4. WERE E0STHE STRACTRE 1 Y030 FRARI, EXSTHG G S
: SECTION CONDTIONS LAY VARY, FELD VERFY THAT FASTENEES A8 INTO A
ADEQUATE WOCD FRANIG LEMEERS, NOT FLIVOD. 4 ’
S, WHERE WOOD SCREMS FASTEN TD HARROW FACE OF STUD FRAMMG,
FASTENER SHALL BE LOCATED N CENTER OF HOMBUL (NI) WOXO STUD
{15 EDCE OSTANCE 15 ACCEPTIGLE FOR 00D FRAMENG),
x ! 40 SHAL PEIETRATE 15 MK %000 SD SKAL BE “SOUTHERN PIE”
B £} ~ G055 OF GREATER DENSTY, MOOD SCREW SHALL HAYE PRLLPS
o~ LN Pai HEO Of HEX HEAD.
6 X g 6. VUM EMBEDMENT AND EDGE DISTANCE EXCLUDES STUICCO, Dote: 2 Mar 2012
.ﬁ%p’ i " /zmmo:Q Screw 3/16" x 2 1/2° FOAL, B, 40 O WAL S Scale: NA
= T et . 7. AL SCREN 0 AN SHAL BE WSTALED WTH FULL Design by: CRIMSAFE
! L Soiprers o o S i 15 s
Potio Corner—0BACNR @ onigpree neviter 14 Masonry Screw 1/4” x 2 1/2 bl foaze” - PRODUCT CONTROL DIVISION
04 SECTION SECTION / SECTION « = 0.035"
- - _A_(Worp direction)
|
15/8 @ 1 ot
F . A o RS 1A (Weft direction)
< T =l g ) E
* . . re | =1 §
= H Drawing Number
1.3/18
2 15718 it MD—-101-POE
= _llliL
\mwjmf‘ﬁ\m' ALUMINUM. MULLION @Fmo Tape @Qmamﬂm Door Midrail WARP= 10 STRANDS FOR 1 Sheet
SECTION { SCREEN INFORMATION
05) SEcion . o SECTION ALL DIMENSION IN_INCHES 4 of 4




